

MOMENTS AND CUMULANTS ON IDENTITIES FOR BERNOULLI AND EULER NUMBERS

LIN JIU and DIANE YAHUI SHI*

Recent results interpret Bernoulli and Euler numbers as moments of certain random variables. When considering the moments and cumulants related to Bernoulli and Euler numbers, Faà di Bruno's formulas lead to several identities, through the Bell polynomials.

AMS 2010 Subject Classification: Primary 11B68, Secondary 62E15

Key words: moment, cumulant, Faà di Bruno's formula, Bernoulli and Euler number

1. INTRODUCTION

We begin with two identities:

$$(1.1) \quad Y_k \left(-\frac{B_2 \cdot 1!}{2 \cdot 2!}, -\frac{B_4 \cdot 2!}{4 \cdot 4!}, \dots, -\frac{B_{2k} \cdot k!}{2k \cdot (2k)!} \right) = \frac{k!(2^{1-2k} - 1)B_{2k}}{(2k)!},$$

and

$$(1.2) \quad Y_k \left(\frac{B_2 \cdot 1!}{2 \cdot 2!}, \frac{B_4 \cdot 2!}{4 \cdot 4!}, \dots, \frac{B_{2k} \cdot k!}{2k \cdot (2k)!} \right) = \frac{k!}{2^{2k}(2k+1)!},$$

where B_k is the k -th Bernoulli numbers and Y_k is the k -th complete Bell polynomial, defined as follows.

DEFINITION 1. *The Bernoulli and Euler polynomials, denoted by $B_n(x)$ and $E_n(x)$, respectively, are defined via their exponential generating functions:*

$$(1.3) \quad \frac{ze^{zx}}{e^z - 1} = \sum_{n=0}^{\infty} B_n(x) \frac{z^n}{n!}, \quad (|z| < 2\pi),$$

and

$$(1.4) \quad \frac{2e^{zx}}{e^z + 1} = \sum_{n=0}^{\infty} E_n(x) \frac{z^n}{n!}, \quad (|z| < \pi).$$

The Bernoulli and Euler numbers are $B_n = B_n(0)$ and $E_n = 2^n E_n(1/2)$, respectively. (See, e.g., entries 24.2.3, 24.2.4, 24.2.8 and 24.2.9 in [8]).

The definition of Bell polynomials can be found in, e.g., [2, p. 134].

DEFINITION 2. *The partial or incomplete exponential Bell polynomial is defined by*

$$Y_{n,\ell}(x_1, \dots, x_{n-\ell+1})$$

*Corresponding author

$$:= \sum_{\substack{a_1 + \dots + a_{n-\ell+1} = \ell \\ a_1 + 2a_2 + \dots + (n-\ell+1)a_{n-\ell+1} = n}} \frac{n!}{a_1! \dots a_{n-\ell+1}!} \left(\frac{x_1}{1!}\right)^{a_1} \dots \left(\frac{x_{n-\ell+1}}{(n-\ell+1)!}\right)^{a_{n-\ell+1}},$$

and the n -th complete exponential Bell polynomial is defined by

$$(1.5) \quad \begin{aligned} Y_n(x_1, \dots, x_n) &:= \sum_{\ell=1}^n Y_{n,\ell}(x_1, \dots, x_{n-\ell+1}) \\ &= \sum_{a_1 + 2a_2 + \dots + na_n = n} \frac{n!}{a_1! \dots a_n!} \left(\frac{x_1}{1!}\right)^{a_1} \dots \left(\frac{x_n}{n!}\right)^{a_n}. \end{aligned}$$

Recall the two identities (1.1) and (1.2) at the very beginning. The first one is a special case of a result obtained by Rubinstein [9, eq. 9] (with $m = d = 1$ and $s = 1/2$); while the second is due to Hoffman [4, Prop. 2.4]. It is surprising that Rubinstein's work [9] is on arXiv since 2009, but we failed to find it published in any journal.

Inspired by the probabilistic methods, e.g., Adell and Lekuona [1] recently consider binomial identities through moments of random variables, we shall reveal that both (1.1) and (1.2) can be similarly derived by considering certain random variables and applying the Faà di Bruno's formulas on corresponding moment-cumulant pairs. More specifically, we shall prove the following eight identities.

PROPOSITION 3. *Let n be a positive integer such that $n > 1$. Then, we have*

$$(1.6) \quad Y_n\left(0, -\frac{B_2}{2}, -\frac{B_3}{3}, \dots, -\frac{B_n}{n}\right) = B_n\left(\frac{1}{2}\right),$$

$$(1.7) \quad Y_n\left(0, \frac{B_2}{2}, \dots, \frac{B_n}{n}\right) = \frac{1 + (-1)^n}{2^{n+1}(n+1)} = \begin{cases} \frac{1}{2^{n(n+1)}}, & \text{if } n \text{ is even;} \\ 0, & \text{if } n \text{ is odd,} \end{cases}$$

$$Y_n\left(0, -6B_2, -\frac{56}{3}B_3, \dots, \frac{2^n(1-2^n)}{n}B_n\right) = E_n,$$

$$Y_n\left(0, 6B_2, \frac{56}{3}B_3, \dots, \frac{2^n(2^n-1)}{n}B_n\right) = \frac{1 + (-1)^n}{2} = \begin{cases} 1, & \text{if } n \text{ is even;} \\ 0, & \text{if } n \text{ is odd,} \end{cases}$$

and

$$\begin{aligned} B_n &= -n \sum_{\ell=1}^n (-1)^{\ell-1} (\ell-1)! Y_{n,\ell}\left(B_1\left(\frac{1}{2}\right), \dots, B_{n-\ell+1}\left(\frac{1}{2}\right)\right) \\ &= n \sum_{\ell=1}^n (-1)^{\ell-1} (\ell-1)! Y_{n,\ell}\left(0, \frac{1}{4 \cdot 3}, 0, \dots, \frac{1 + (-1)^{n-\ell+1}}{2^{n-\ell+2}(n-\ell+2)}\right) \end{aligned}$$

$$\begin{aligned}
&= \frac{n}{2^n(1-2^n)} \sum_{\ell=1}^n (-1)^{\ell-1} (\ell-1)! Y_{n,\ell}(E_1, \dots, E_{n-\ell+1}) \\
&= \frac{n}{2^n(2^n-1)} \sum_{\ell=1}^n (-1)^{\ell-1} (\ell-1)! Y_{n,\ell} \left(0, 1, \dots, \frac{(-1)^{n-\ell+1} + 1}{2} \right),
\end{aligned}$$

where (1.6) is equivalent to (1.1) and (1.7) is equivalent to (1.2).

In order to prove Proposition 3 by probabilistic method, we shall first review basic definition of random variables, moments, cumulants, Faá di Bruno's formulas, and the probabilistic interpretations of Bernoulli and Euler polynomials in Section 2. Then, In Section 3, we shall find four pairs of moments and cumulants, listed as Table 1, which imply all the identities of Proposition 3 via Faá di Bruno's formulas.

2. PRELIMINARIES

First of all, we recall the moments and cumulants for a random variable. (See, e.g., [7, Chpt. 3].)

Let X be an arbitrary random variable on \mathbb{R} , with *probability density function* $p(t)$ and *moments* m_n , namely,

$$m_n = \mathbb{E}[X^n] = \int_{\mathbb{R}} t^n p(t) dt.$$

The *moment generating function* of X is the exponential generating function of m_n , denoted by

$$(2.1) \quad \mathbb{E}[e^{zX}] = \int_{\mathbb{R}} e^{zt} p(t) dt = \sum_{n=0}^{\infty} m_n \frac{z^n}{n!}.$$

The *cumulants* κ_n are defined via the cumulant generating function $K(z)$, which is the natural logarithm of the moment generating function (2.1):

$$K(z) := \sum_{n=1}^{\infty} \kappa_n \frac{z^n}{n!} = \log(\mathbb{E}[e^{zX}]) = \log\left(\sum_{n=0}^{\infty} m_n \frac{z^n}{n!}\right).$$

The “logarithmic-exponential” relation between the moment generating function and the cumulant generating function allows us to apply the *Faá di Bruno's formulas* (see, e.g., [5, eq. 1]) to obtain

$$(2.2) \quad m_n = Y_n(\kappa_1, \dots, \kappa_n)$$

and its inverse relation

$$(2.3) \quad \kappa_n = \sum_{\ell=1}^n (-1)^{\ell-1} (\ell-1)! Y_{n,\ell}(m_1, \dots, m_{n-\ell+1}),$$

Note that (2.2) and (2.3) are our key formulas in our proof of Proposition 3.

Now, recall the definition of Bernoulli and Euler polynomials, in Definition 1. From (1.3) and (1.4), we see an important property that for positive integer k

$$(2.4) \quad B_{2k-1}\left(\frac{1}{2}\right) = B_{2k+1} = E_{2k-1} = 0 \quad \text{and} \quad B_1 = -\frac{1}{2}.$$

Next, we give the probabilistic interpretations of $B_n(x)$ and $E_n(x)$ as follows. Letting

$$p_B(t) := \frac{\pi}{2} \operatorname{sech}^2(\pi t) \quad \text{and} \quad p_E(t) := \operatorname{sech}(\pi t), \quad (t \in \mathbb{R})$$

we define two random variables L_B and L_E with density functions p_B and p_E , respectively. Then, with $i^2 = -1$,

$$(2.5) \quad B_n(x) = \mathbb{E} \left[\left(iL_B + x - \frac{1}{2} \right)^n \right] = \int_{\mathbb{R}} \left(it + x - \frac{1}{2} \right)^n p_B(t) dt,$$

$$(2.6) \quad E_n(x) = \mathbb{E} \left[\left(iL_E + x - \frac{1}{2} \right)^n \right] = \int_{\mathbb{R}} \left(it + x - \frac{1}{2} \right)^n p_E(t) dt.$$

See, e.g., [3, eq. 2.14] and [6, eq. 2.3] for the two expectations above.

Remark. For both random variables L_B and L_E , the moments are $|B_n(1/2)| = \mathbb{E}[L_B^n]$ and $|E_n(1/2)| = \mathbb{E}[L_E^n]$. Given a random variable X with moments m_n and density $p(t)$, the uniqueness of $p(t)$ with respect to m_n is of importance and is not always guaranteed. To prove this uniqueness, one sufficient condition is the general Carleman's condition, (see e.g., [10, p. 59])

$$(2.7) \quad \sum_{n=1}^{\infty} m_n^{\frac{1}{n}} = \infty.$$

Note that $|B_{2n}(1/2)| \sim 4(1 - 2^{1-2n}) \sqrt{\pi n} (n/(\pi e))^{2n}$, i.e., $|B_{2n}(1/2)|^{-\frac{1}{2n}} \sim e\pi/n$, and $(-1)^n E_{2n} \sim 8\sqrt{n/\pi} (4n/(\pi e))^{2n}$, from entries 24.4.27, 24.11.2 and 24.11.4 in [8]. By comparison test with harmonic series, for both L_B and L_E , (2.7) is guaranteed, implying the uniqueness of p_B and p_E .

3. PROOF OF PROPOSITION 3

In this section, we shall prove Proposition 3 by applying (2.2) and (2.3) on certain pairs of moments and cumulants, which are listed in the following table.

Moments	Cumulants
$\bar{m}_n = B_n \left(\frac{1}{2}\right)$	$\bar{\kappa}_n = \begin{cases} -B_n/n, & \text{if } n > 1; \\ 0, & \text{if } n = 1. \end{cases}$
$\tilde{m}_n = \begin{cases} \frac{1}{2^n(n+1)}, & \text{if } n \text{ is even;} \\ 0, & \text{if } n \text{ is odd.} \end{cases}$	$\tilde{\kappa}_n = -\bar{\kappa}_n = \begin{cases} B_n/n, & \text{if } n > 1; \\ 0, & \text{if } n = 1. \end{cases}$
$m'_n = E_n$	$\kappa'_n = \begin{cases} 2^n(1-2^n)B_n/n & \text{if } n > 1; \\ 0, & \text{if } n = 1. \end{cases}$
$m''_n := \begin{cases} 1, & \text{if } n \text{ is even;} \\ 0, & \text{if } n \text{ is odd.} \end{cases}$	$\kappa''_n = -\kappa'_n = \begin{cases} 2^n(2^n-1)B_n/n & \text{if } n > 1; \\ 0, & \text{if } n = 1. \end{cases}$

Table 1: List of pairs of moment and cumulant

Proof of Proposition 3. First of all, we verify the four pairs of moments and cumulants in Table 1.

(i) Consider the random variable $\bar{X} := iL_B$ and we denote its moments by \bar{m}_n and its cumulants by $\bar{\kappa}_n$. From (1.3), (2.1), and (2.5), we see

$$(3.1) \quad \mathbb{E}[e^{z\bar{X}}] = \mathbb{E}[e^{ziL_B}] = \sum_{n=0}^{\infty} B_n \left(\frac{1}{2}\right) \frac{z^n}{n!} = \frac{z/2}{\sinh(z/2)},$$

i.e., $\bar{m}_n := B_n(1/2)$. Meanwhile, note the cumulant generating function

$$\bar{K}(z) := \sum_{n=1}^{\infty} \bar{\kappa}_n \frac{z^n}{n!} = \log \left(\frac{z/2}{\sinh(z/2)} \right).$$

Hoffman [4, pp. 279–280] verified that

$$(3.2) \quad -\bar{K}(z) = \log \left(\frac{\sinh(z/2)}{z/2} \right) = \sum_{n=1}^{\infty} \frac{B_{2n} z^{2n}}{2n(2n)!},$$

which, by (2.4), implies $\bar{\kappa}_n = -B_n/n$ if $n > 1$; and $\bar{\kappa}_1 = 0$.

(ii) Define a random variable \tilde{X} by its moment generating function

$$M_{\tilde{X}}(z) = \mathbb{E}[e^{z\tilde{X}}] = \frac{\sinh(z/2)}{z/2} = \sum_{k=0}^{\infty} \frac{z^{2k}}{2^{2k}(2k+1)!}.$$

Denote the moments of \tilde{X} by \tilde{m}_n and cumulants by $\tilde{\kappa}_n$. We see that

$$\tilde{m}_n := \mathbb{E}[\tilde{X}] = \frac{1 + (-1)^n}{2^{n+1}(n+1)} = \begin{cases} 0, & \text{if } n \text{ is odd;} \\ \frac{1}{2^{2k}(2k+1)}, & \text{if } n = 2k \text{ is even.} \end{cases}$$

Meanwhile, by (3.2), $\tilde{\kappa}_n = B_n/n$ for $n > 1$ and $\tilde{\kappa}_1 = 0$.

(iii) By replacement $z \mapsto iz$ in [2, p. 88], we have

$$\log(\cosh(z)) = \sum_{k=1}^{\infty} \frac{2^{2k-1}(2^{2k}-1)B_{2k}}{k} \cdot \frac{z^{2k}}{(2k)!}.$$

Also, recall the following two generating functions [8, entry 24.2.6]

$$\frac{1}{\cosh(z)} = \sum_{n=0}^{\infty} E_n \frac{z^n}{n!}, \quad \left(|z| < \frac{\pi}{2}\right),$$

and [8, entry 4.33.2]

$$\cosh(z) = \sum_{n=0}^{\infty} \frac{z^{2n}}{(2n)!}.$$

Then, we have, for random variable $X' := 2iL_E$, by (2.6), its moments are $m'_n = \mathbb{E}[(X')^n] = E_n$ and cumulants are given by

$$\kappa'_n = \begin{cases} \frac{2^n(1-2^n)}{n} B_n & \text{if } n \text{ is even;} \\ 0, & \text{if } n \text{ is odd.} \end{cases} = \begin{cases} 2^n(1-2^n)B_n/n & \text{if } n > 1; \\ 0, & \text{if } n = 1. \end{cases}$$

(iv) Similarly, define a random variable X'' , such that its moments are

$$m''_n := \mathbb{E}[(X'')^n] = \frac{1 + (-1)^n}{2} = \begin{cases} 1, & \text{if } n \text{ is even;} \\ 0, & \text{if } n \text{ is odd,} \end{cases}$$

then the corresponding cumulants of X'' are $\kappa''_n = -\kappa'_n$.

Now, it is obvious that applying (2.2) to the four pairs in Table 1 yields the first four identities of Proposition 3 and (2.3) gives the last four different expressions of B_n in terms of incomplete Bell polynomials. The remaining is to identify (1.6) with (1.1) and to identify (1.7) with (1.2).

For (1.6), if n is odd, by (2.4) that $B_n(1/2) = 0$, it is a zero identity. Therefore, we can assume $n = 2k$ is even. From the definition (1.5), we see that nonzero terms on the right-hand side of (1.6) are of the form

$$\frac{(2k)!}{a_2!a_4!\cdots a_{2k}!} \left(-\frac{B_2}{2 \cdot 2!}\right)^{a_2} \cdots \left(-\frac{B_{2k}}{2k \cdot (2k)!}\right)^{a_{2k}},$$

where $2k = n = 2a_2 + 4a_4 + \cdots + (2k)a_{2k}$. Let $b_j = a_{2j}$, for $j = 1, \dots, k$ to see

$$\begin{aligned}
& Y_n \left(0, -\frac{B_2}{2}, -\frac{B_3}{3}, \dots, -\frac{B_n}{n} \right) \\
&= \sum_{2a_2 + \cdots + (2k)a_{2k} = 2k} \frac{(2k)!}{a_2! a_4! \cdots a_{2k}!} \left(-\frac{B_2}{2 \cdot 2!} \right)^{a_2} \cdots \left(-\frac{B_{2k}}{2k \cdot (2k)!} \right)^{a_{2k}} \\
&= \sum_{b_1 + 2b_2 + \cdots + kb_k = k} \frac{(2k)!}{b_1! \cdots b_k!} \left(\frac{-\frac{B_2 \cdot 1!}{2 \cdot 2!}}{1!} \right)^{b_1} \cdots \left(\frac{-\frac{B_{2k} \cdot k!}{2k \cdot (2k)!}}{k!} \right)^{b_k} \\
&= \frac{(2k)!}{k!} Y_k \left(-\frac{B_2 \cdot 1!}{2 \cdot 2!}, -\frac{B_4 \cdot 2!}{4 \cdot 4!}, \dots, -\frac{B_{2k} \cdot k!}{2k \cdot (2k)!} \right).
\end{aligned}$$

Finally, by entry 24.4.27 in [8], We obtain (1.1).

Similar simplification on (1.7) yields (1.2). \square

Acknowledgment. The corresponding author is supported by the National Science Foundation of China (No. 1140149).

The first author is supported by the Izaak Walton Killam Postdoctoral Fellowship at Dalhousie University. He would like to thank his supervisor Prof. Karl Dilcher and also Prof. Christophe Vignat for their valuable suggestions and guidance on this work.

REFERENCES

- [1] J. Adell and A. Lekuona, *Binomial identities and moments of random variables*, Amer. Math. Monthly **125** (2018), 533–538.
- [2] L. Comtet, *Advanced Combinatorics*, D. Reidel Publishing Company, Dordrecht - Boston, 1974.
- [3] A. Dixit, V. H. Moll, and C. Vignat, *The Zagier modification of Bernoulli numbers and a polynomial extension. Part I*, Ramanujan J. **33** (2014), 379–422.
- [4] M. Hoffman, *Multiple harmonic series*, Pacific J. Math. **152** (1992), 275–290.
- [5] W. P. Johnson, *The curious history of Faà di Bruno's formula*, Amer. Math. Monthly **109** (2002), 217–234.

-
- [6] L. Jiu, V. H. Moll, and C. Vignat, *Identities for generalized Euler polynomials*, *Integral Transforms Spec. Funct.* **25** (2014), 777–789.
- [7] M. G. Kendall and A. Stuart, (1969) *The Advanced Theory of Statistics, Vol. 1*, Charles Griffin Company Limited, London, 1969.
- [8] F. W. J. Olver, D. W. Lozier, R. F. Boisvert, and C. W. Clark, (eds.), *NIST Handbook of Mathematical Functions*, Cambridge Univ. Press, New York, 2010.
- [9] B. Y. Rubinstein, *Complete Bell polynomials and new generalized identities for polynomials of higher order*, Preprint, (2009), <https://arxiv.org/abs/0911.3069>, 9 pages.
- [10] J. A. Shohat and J. D. Tamarkin, *The Problem of Moments*, AMS, New York, 1943.

*Department of Mathematics and Statistics,
Dalhousie University, 6316 Coburg Road,
Halifax, Nova Scotia, Canada B3H 4R2
Lin.Jiu@dal.ca*

*School of Mathematics, Tianjin University,
No. 92 Weijin Road, Nankai District,
Tianjin 300072, P. R. China
shiyahui@tju.edu.cn*